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	1
	A and B are mutually associated companies. A company is a consumer (customer), and B is a producer (manufacturer). A has sent to B raw materials amounting to 8000 AZN, in its turn B produced whisky and relevant whisky products and provided to A. On the base of the Tax code of AR, define the payer(s) of excise tax.
	

	A)
	Payer A only 
	+

	B)
	Payer B only
	

	C)
	Both of them
	

	D)
	Both of them by 0% due to Art.176
	

	E)
	None of them
	

	2.
	A company is producing vodka. During the period from 1 Feb to 10 Feb, it produced on the plant 20000 liters of vodka, and after bottling it, on  12 Feb sent to point of sales. And on 20th of Feb it sold them. On the base of the Tax code of AR, define  the time for recognition of excise tax operation.
	

	A)
	Feb 12
	+

	B)
	Feb 20
	

	C)
	Feb 1 – Feb 10
	

	D)
	Cannot be defined as per Art. 183
	

	E)
	None
	

	3
	Javid is an entrepreneur that is engaged in exporting and importing of goods. On 16 of March he imported from Turkey cigarettes amounting to 9000 AZN, and paid for them on 18 Mar. On 21 Mar the cigarettes were cleared from customs services. On the base of the Tax code of AR, define  the time for recognition of excise tax operation.


	

	A)
	Mar 16
	

	B)
	Mar 18
	

	C)
	Mar 21
	+

	D)
	None
	

	E)
	After 30 days he received the goods
	

	4
	XY company is a tax payer that bought 11000 liters of drinking alcohol on the base e-tax invoice during the reporting period. It used the alcohol within the production of vodka on the plant and produced 20000 units of 0,5 liter vodka of 0,80 AZN market price per unit and sent to point of sales from the plant. On the base of the Tax code of AR, define (calculate) the  excise tax liability of the company or refund(creditable) that should be made to company.


	

	A)
	2000 AZN tax liability
	

	B)
	2000 AZN tax refundable
	+

	C)
	1600 AZN tax liability
	

	D)
	1600 AZN tax refundable
	

	E)
	2200 AZN tax liability
	

	5
	X company (customer) has sent to Y company (contractor) 4300 liters of vine for reprocessing and bottling. The contract price for such services is 6000 azn VAT exclusive. In its turn Y company after reprocessing and some losses referred to reprocessing process has sent to X company 4200 liters of vine in 1 liter bottles. On the base of the Tax code of AR, define (calculate) the amount that should be obtained by Y from X.


	

	A)
	7575,6 AZN
	+

	B)
	1155,6 AZN
	

	C)
	420 AZN
	

	D)
	6000 AZN
	

	E)
	7677,6 AZN
	

	6
	ABC company bought from natural person that is engaged in cognac production 5500 liters of cognac materials on the base of e-tax invoice in non-cash from. In its turn ABC produced using the materials 10000 units of 0,5 liter cognac. Within the reporting period 9000 units were sent from plant to point of sales. On the base of the Tax code of AR, define (calculate) the  excise tax liability of the company or refund(creditable) that should be made to company.
	

	A)
	6000 AZN refundable
	+

	B)
	27000 AZN tax liability
	

	C)
	33000 AZN refundable
	

	D)
	6500 AZN tax liability
	

	E)
	6200 AZN refundable
	

	7
	The beginning balance of the equipment of the company for the reporting period is 20000 azn, the ending balance is 10000 azn. On the base of Tax code calculate the property tax liability of the company.
	

	A)
	200 AZN
	

	B)
	150 AZN
	+

	C)
	300 AZN
	

	D)
	220 AZN
	

	E)
	210 AZN
	

	8
	The beginning balance of the long lived assets of the company was 550000 azn (it included: 100000 azn buildings, technology 50000 azn, ecological equipment 50000 azn, cars 60000 azn, property used for civil defense 80000, computers 30000, fire fighting equipment 10000, 170000 other property). The ending balance was 700000 azn (200000 buildings,  technology 190000 azn, ecological equipment 50000 azn, cars 60000 azn, property used for civil defense 60000, computers 20000, fire fighting equipment 10000, other 110000). On the base of Tax code calculate the property tax liability of the company.
	

	A)
	5550 AZN
	

	B)
	4950 AZN
	+

	C)
	3250 AZN
	

	D)
	5020 AZN
	

	E)
	5550 AZN
	

	9
	Mahmud is a natural person that has a flat (85 m2) and an office (25 m2) for business activity. On the base of Tax code calculate the property tax liability of Mahmud.


	

	A)
	24 AZN
	+

	B)
	16 AZN
	

	C)
	7,5 AZN
	

	D)
	18 AZN
	

	E)
	29 AZN
	

	10
	Samir is a natural person that has a flat (85 m2). On the base of Tax code calculate the property tax liability of Samir.


	

	A)
	2,4 AZN
	

	B)
	1,7 AZN
	

	C)
	16,5 AZN
	+

	D)
	18 AZN
	

	E)
	2,2 AZN
	

	11
	Javid is a natural person that has an office (25 m2) for business activity. On the base of Tax code calculate the property tax liability of Javid.
	

	A)
	12,4 AZN
	

	B)
	16 AZN
	

	C)
	7,5 AZN
	+

	D)
	8,5 AZN
	

	E)
	22,4 AZN
	

	12
	The company has on its balance a 200000 sm3, passenger ship with average salvage value 1000000 azn. On the base of Tax code calculate the property tax liability of the company.


	

	A)
	10000 AZN
	

	B)
	7500 AZN
	+

	C)
	2000 AZN
	

	D)
	9500 AZN
	

	E)
	10000 AZN
	

	13
	Hero of Soviet Union is natural person, that has an air transport with engine volume of 150000 sm3. On the base of Tax code calculate the property tax liability.


	

	A)
	3000 AZN
	+

	B)
	1500 AZN
	

	C)
	2000 AZN
	

	D)
	1800 AZN
	

	E)
	4000 AZN
	

	14
	National hero of Azerbaijan has a boat without engine, which market value is 8000 AZN. On the base of Tax code calculate the property tax liability.


	

	A)
	65 AZN
	

	B)
	80 AZN
	+

	C)
	8 AZN
	

	D)
	100 AZN
	

	E)
	75 AZN
	

	15
	The sole proprietor has 8 employees and turnover 75000 azn for the end of the reporting period. The beginning balance of the equipment of the sole proprietor is 10000 azn, ending is 6000 azn. On the base of Tax code calculate the property tax liability.


	

	A)
	120 AZN
	

	B)
	80 AZN
	

	C)
	100 AZN
	

	D)
	60 AZN
	

	E)
	No liabilities
	+

	16
	The company was established on 1 Jul 2017. On that date the salvage value of the property was 60000 azn ( 10000 azn equipment, 50000 office). On 31 Dec 2017 the salvage value of the property was 78000 azn (12000 azn equipment, 66000 azn office). On the base of Tax code calculate the property tax liability.


	

	A)
	40250 AZN
	

	B)
	28750 AZN
	+

	C)
	32150 AZN
	

	D)
	34780 AZN
	

	E)
	34156 AZN
	

	17
	Company A was established on 1 Jan 2017. On that date the salvage value of the property was 60000 azn ( 10000 azn equipment, 50000 office). On 16 Aug 2017 it was terminated and the salvage value of the property was 78000 azn (12000 azn equipment, 66000 azn office). On the base of Tax code calculate the property tax liability.
	

	A)
	40250 AZN
	+

	B)
	28750 AZN
	

	C)
	32150 AZN
	

	D)
	34780 AZN
	

	E)
	32140 AZN
	

	18
	The school has a property for the start of the period amounting to 30000 AZN (20000 azn educational area, 10000 azn area that is being used for rental purposes). For the end of the period the ending value was 40000 AZN ( 25000 azn educ area, 15000 azn – rental area). On the base of Tax code calculate the property tax liability.


	

	A)
	150 AZN
	

	B)
	175 AZN
	

	C)
	125 AZN
	+

	D)
	145 AZN
	

	E)
	165 AZN
	

	19
	The widow of the soldier has in Nakhichevan city courtyard area of 3600 m2 and 1200 m2 garden area in the country side. On the base of Tax code calculate the land tax.


	

	A)
	0,8 AZN and 3,6 AZN
	+

	B)
	0,8 AZN and 5,5 AZN
	

	C)
	0,65 AZN and 3,6 AZN
	

	D)
	0,75 AZN and 0,8 AZN
	

	E)
	0,75 AZN and 0,56 AZN
	

	20
	2nd group war disabled person has a garden area of 1200 m2 in Baku. On the base of Tax code calculate the land tax liability.


	

	A)
	6,2 AZN
	

	B)
	7,2 AZN
	

	C)
	8 AZN
	

	D)
	12 AZN
	

	E)
	No liabilities
	+

	21
	The AAT governmental company accrued to its employee for the current month 500 azn salary. At the same time due to the contract between the AAT company and insurance company, it has paid on behalf of the employee medical health insurance fee in the amount of 300 azn.  Also the AAT paid business trip fee to employee in the amount of 250 azn. What is the tax on income received as the result of employment?
	

	A)
	42 AZN
	+

	B)
	36 AZN
	

	C)
	40 AZN
	

	D)
	25 AZN
	

	E)
	32 AZN
	

	22
	The AAT private touristic company accrued to its employee for the current month 500 azn salary. At the same time due to the contract between the AAT company and insurance company, it has paid on behalf of the employee medical health insurance fee in the amount of 300 azn.  Also the AAT paid business trip fee to employee in the amount of 250 azn. What is the tax on income received as the result of employment?
	

	A)
	18 AZN
	

	B)
	36 AZN
	

	C)
	40 AZN
	

	D)
	25 AZN
	

	E)
	0 AZN
	+

	23
	The annual income of the natural person was 23000 azn (5300 azn of the amount was a gift, 8200 azn moneyed assistance for health examination abroad, 9500 azn as other income from non-entrepreneurial economic activity). Define the taxable amount.


	

	A)
	20000 AZN
	+

	B)
	23000 AZN
	

	C)
	5300 AZN
	

	D)
	17700 AZN
	

	E)
	21100 AZN
	

	24
	The annual income of the natural person was 23000 azn (5300 azn of the amount was a gift, 8200 azn moneyed assistance for health examination abroad, 9500 azn as other income from non-entrepreneurial economic activity). Calculate the tax for the natural person's income.


	

	A)
	2800 AZN
	+

	B)
	1200 AZN
	

	C)
	1148 AZN
	

	D)
	1330 AZN
	

	E)
	1500 AZN
	

	25
	The AAT company accrued to its employee for the current month 500 azn salary. At the same time due to the contract between the AAT company and insurance company, it has paid on behalf of the employee medical health insurance fee in the amount of 300 azn.  Also the AAT paid business trip fee to employee in the amount of 250 azn. What is the total income of the employee?


	

	A)
	500 AZN
	

	B)
	800 AZN
	+

	C)
	1050 AZN
	

	D)
	250 AZN
	

	E)
	180 AZN
	

	26
	The STG oil company accrued to its employee for the current month 1500 azn salary. At the same time due to the contract between the STG company and insurance company, it has paid on behalf of the employee medical health insurance fee in the amount of 300 azn.  Also the STG granted to employee a mobile phone which market value is 250 azn. What is the tax on income received as the result of employment?
	

	A)
	217 AZN
	+

	B)
	210 AZN
	

	C)
	160 AZN
	

	D)
	221 AZN
	

	E)
	321 AZN
	

	27
	The AAT company accrued to its employee for the current month 800 azn salary. The employee is the veteran of Karabakh war. At the same time due to the contract between the AAT company and insurance company, it has paid on behalf of the employee medical health insurance fee in the amount of 300 azn.  Also the AAT paid business trip fee to employee in the amount of 250 azn. What is the tax on income received as the result of employment?
	

	A)
	80 AZN
	

	B)
	70 AZN
	+

	C)
	60 AZN
	

	D)
	50 AZN
	

	E)
	90 AZN
	

	28
	The annual income of the natural person was 25000 azn (5300 azn of the amount was a gift, 10200 azn moneyed assistance for health examination abroad, 9500 azn as other income from non-entrepreneurial economic activity). He also got the inheritance from his friend in the amount of 34000 azn. Define the taxable amount
	

	A)
	25000 AZN
	

	B)
	56000 AZN
	+

	C)
	59000 AZN
	

	D)
	22000 AZN
	

	E)
	53000 AZN
	

	29
	The annual income of the natural person was 25000 azn (5300 azn of the amount was a gift, 10200 azn moneyed assistance for health examination abroad, 9500 azn as other income from non-entrepreneurial economic activity). He also got the inheritance from his friend in the amount of 34000 azn. Calculate tax for the natural person's income
	

	A)
	7840 AZN
	+

	B)
	3500 AZN
	

	C)
	4760 AZN
	

	D)
	8910 AZN
	

	E)
	7650 AZN
	

	30
	The STG company accrued to its employee for the current month 1500 azn salary. The person is the parent of Martyr of the war. Also the STG granted to employee a mobile phone which market value is 450 azn. What is the tax on income received as the result of employment?
	

	A)
	231 AZN
	+

	B)
	201 AZN
	

	C)
	210 AZN
	

	D)
	170 AZN
	

	E)
	241 AZN
	

	31
	Legal person accrued salary for the natural person for the current month in the amount of 300 azn. At the same time Trade Union Confederation made a moneyed assistance in the amount of 320 azn to the  natural person. Considering that the natural person is a disabled person of 1st group, calculate the tax from source of payment
	

	A)
	0 AZN
	+

	B)
	4,2 AZN
	

	C)
	1,4 AZN
	

	D)
	8,68 AZN
	

	E)
	7,21 AZN
	

	32
	The resident enterprise paid to natural person who is not registered in tax authorities for the provided services fee in the amount of 5000 azn. Calculate the tax from source of payment of the natural person
	

	A)
	975 AZN
	+

	B)
	700 AZN
	

	C)
	1250 AZN
	

	D)
	1000 AZN
	

	E)
	850 AZN
	

	33
	A company is a VAT payer, for the current period provided 10000 azn worth (VAT excluding) poligrafic services. At the same time A company obtained from B company goods and services 2360 azn worth (VAT inclusive) in non-cash form on the base of Electronic Tax Invoices (deposit accounts).  Calculate the VAT amount that should be paid to the budget by A company
	

	A)
	1800 AZN
	

	B)
	360 AZN
	

	C)
	0 AZN
	+

	D)
	2160 AZN
	

	E)
	25 AZN
	

	34
	The company during the reporting period has sold materials worth 30000 azn and energy worth 20000 azn, rendered publishing services worth 15000 azn and ritual services worth 10000 azn. What are the worth of operation to be obliged for VAT goals
	

	A)
	50000 AZN
	+

	B)
	25000 AZN
	

	C)
	75000 AZN
	

	D)
	45000 AZN
	

	E)
	34000 AZN
	

	35
	1. Given the following data:

1) Sole trader during the reporting period has provided consulting services worth 1500 azn to the resident company;

2) Rendered insurance agency services worth 1200;

3) Fixed asset with 400 azn salvge value was written off. Note: The VAT was substituted while purchasing of fixed asset.

4) Note that VAT is not inclusive for the above stated amounts.

On the base of given data calculate the amount of VAT obliged operations
	

	A)
	1500 AZN
	+

	B)
	2700 AZN
	

	C)
	3100 AZN
	

	D)
	1200 AZN
	

	E)
	0 AZN
	

	36
	What is the tax allowance/exemptions for National Heroes of Azerbaijan Republic?
	

	A)
	400 AZN
	+

	B)
	200 AZN
	

	C)
	1000 AZN
	

	D)
	100 AZN
	

	E)
	720 AZN
	

	37
	Microenterpreneur has provided services amounting to 1000 AZN to Company A. The expenses related to his activity were 300 AZN. Calculate the income tax of the Microenterpreneur?
	

	A)
	25 AZN
	

	B)
	140 AZN
	

	C)
	35 AZN
	+

	D)
	98 AZN
	

	E)
	65 AZN
	

	38 
	What is the tax exemption for disabled persons?
	

	A)
	400 AZN
	

	B)
	200 AZN
	+

	C)
	100 AZN
	

	D)
	50 AZN
	

	E)
	25 AZN
	

	39 
	What is the tax exemptions for the gifts received within calendar year?
	

	A)
	500 AZN
	

	B)
	1000 AZN
	+

	C)
	2000 AZN
	

	D)
	4000 AZN
	

	E)
	2300 AZN
	

	40
	What is the tax exemptions for the amounts received as a prize in international championships/competitions?
	

	A)
	3000 AZN
	

	B)
	200 AZN
	

	C)
	4000 AZN
	+

	D)
	2000 AZN
	

	E)
	100 AZN
	

	41
	What is the profit tax rate for enterprices (legal entities)?
	

	A)
	20% after deduction of expenses
	+

	B)
	10% after deduction of expenses
	

	C)
	18% before deduction of expenses
	

	D)
	14% after deduction of expenses
	

	E)
	10% after deduction of expenses
	

	42
	What is the allowance rate for repair expenses of fixed assets (PPE) that are permitted for deduction for the tax purposes?
	

	A)
	2%, 3%, 4%
	

	B)
	2%, 3%, 5%
	+

	C)
	2%, 2%, 4%
	

	D)
	1%, 3%, 4%
	

	E)
	1%, 2%, 4%
	

	43
	What is the depreciation rate for transport wehicles due to Tax code?
	

	A)
	Up to 20%
	

	B)
	Up to 25%
	+

	C)
	Up to 1%
	

	D)
	Up to 7%
	

	E)
	Up to 10%
	

	44
	What is the depreciation rate for machinery and equipment due to Tax code?


	

	A)
	Up to 20%
	+

	B)
	Up to 25%
	

	C)
	Up to 1%
	

	D)
	Up to 7%
	

	E)
	Up to 10%
	

	45
	Company resulted with 20000 AZN profit for the end of 2017. And has uncovered loss of previous years as following:

2012 - 5000 AZN

2013 – 3000 AZN

2014 – 5000 AZN

2015 – 400 AZN

2016 – 2000 AZN

Calculate the profit tax of the company
	

	A)
	200 AZN
	+

	B)
	400 AZN
	

	C)
	600 AZN
	

	D)
	810 AZN
	

	E)
	430 AZN
	

	46
	Legal entity has accrued 5000 AZN dividends to its shareholders. What is the tax from source of payment?
	

	A)
	70 AZN
	

	B)
	50 AZN
	+

	C)
	100 AZN
	

	D)
	65 AZN
	

	E)
	75 AZN
	

	47
	What is tax rate for rental (lease) operations?
	

	A)
	10%
	

	B)
	18%
	

	C)
	14%
	+

	D)
	20%
	

	E)
	6%
	

	48
	Non-resident entity gained 70000 AZN profit for the end of the year. 

How much profit tax it should pay, and what tax obligation is formed in case of transfer the retained earnings to the area of its jurisdiction?
	

	A)
	Profit tax 14000 AZN, tax from source of payment 5600 AZN
	+

	B)
	Profit tax 14000 AZN, tax from source of payment 56000 AZN
	

	C)
	Profit tax 12000 AZN, tax from source of payment 5900 AZN
	

	D)
	Profit tax 14000 AZN, tax from source of payment 5900 AZN
	

	E)
	Profit tax 12000 AZN, tax from source of payment 5600 AZN
	

	49
	A Turkish citizen spent 50 AZN and bought a lottery ticcket in Azerbaijan, that gained him a prize amounting to 1000 AZN. What is the tax obligation of the Turkish citizen?
	

	A)
	100 AZN
	

	B)
	95 AZN
	+

	C)
	5 AZN
	

	D)
	105 AZN
	

	E)
	15 AZN
	

	50
	A natural person that is engaged in business activity, uses a trademark of non-resident entity and pays for the use a royalty amounting to 2000 AZN. How much should withhold natural person as a tax from source of payment?
	

	A)
	280 AZN
	+

	B)
	200 AZN
	

	C)
	400 AZN
	

	D)
	360 AZN
	

	E)
	230 AZN
	

	51
	A local company imported from Turkey goods amounting to 17000$. Transportation charges paid were 3000$. The customs charges were 15%. At the moment of import the currency exchange rate was 1,55 AZN. Calculate the VAT
	

	A)
	6500 AZN
	

	B)
	6417 AZN
	+

	C)
	5523 AZN
	

	D)
	6328 AZN
	

	E)
	4367 AZN
	

	52
	A government organization leased its office for 1000 AZN (including VAT). 50% of leasing income is paid to the budget. Calculate the VAT that should be withhold by governmental organization
	

	A)
	76,27 AZN
	+

	B)
	56,12 AZN
	

	C)
	89,02 AZN
	

	D)
	77,54 AZN
	

	E)
	65,65 AZN
	

	53
	The compay insured its property for 40000 AZN with AS Insurance company, and paid 2000 AZN to insurance company. What is the VAT for the insurance charge?
	

	A)
	210 AZN
	

	B)
	360 AZN
	

	C)
	7560 AZN
	

	D)
	0%
	

	E)
	İt is exempted from VAT
	+

	54
	Notarious has provided notarial services amounting to 550 AZN, expenses related to his activity were 50 AZN. What is income tax from his activity
	

	A)
	100 AZN
	

	B)
	55 AZN
	+

	C)
	50 AZN
	

	D)
	77 AZN
	

	E)
	65 AZN
	

	55
	Company imported to special economic zone goods amounting 100000 AZN, of which 20000 AZN goods were excisable. Calculate the VAT.
	

	A)
	18000 AZN
	

	B)
	14400 AZN
	

	C)
	3600 AZN
	+

	D)
	0 AZN
	

	E)
	10500 AZN
	

	56
	Transportation company (VAT payer) should transport from Nakhichevan to Izmir goods. The transportation charge to Sadarak customs point was 3000 AZN. The transportation charge from Sadarak customs point to Izmir city was 15000 AZN. Calculate the appropriate VAT
	

	A)
	3240 AZN
	

	B)
	540 AZN
	+

	C)
	2700 AZN
	

	D)
	0 AZN
	

	E)
	105 AZN
	

	57
	Embassy of Georgia purchased from local supplier (VAT payer) furniture amounting to 10000 AZN for service use. Calculate the VAT
	

	A)
	1800 AZN
	

	B)
	1000 AZN
	

	C)
	0 AZN
	+

	D)
	It’s exempted 
	

	E)
	1200 AZN
	

	58
	A company provides touristic services. The cost of services in Antaliya is 18000 AZN. 5000 AZN relates to airline company and was paid, 8000 AZN was paid for hotel services in Antaliya. What is the VAT to touristic provider?
	

	A)
	900 AZN
	+

	B)
	270 AZN
	

	C)
	3240 AZN
	

	D)
	It’s exempted
	

	E)
	640 AZN
	

	59
	What is tax rate for income received as a result of employment in non-oil/non-governmental organizations?
	

	A)
	0% up to 7000 AZN, 25% of the excess of 7000 AZN
	

	B)
	0% up to 9000 AZN, 14% of the excess of 9000 AZN
	

	C)
	0% up to 8000 AZN, 25% of the excess of 8000 AZN
	

	D)
	0% up to 8000 AZN, 14% of the excess of 8000 AZN
	+

	E)
	0% up to 8000 AZN, 25% of the excess of 7000 AZN
	

	60
	What is tax rate for income received as a result of employment in oil/governmental organizations?
	

	A)
	14% up to 2500 AZN, 25% of the excess of 2500 plus 450 AZN
	

	B)
	14% up to 2500 AZN, 20% of the excess of 2500 plus 350 AZN
	+

	C)
	14% up to 2500 AZN, 25% of the excess of 2500 plus 350 AZN
	

	D)
	14% up to 2500 AZN, 25% of the excess of 2500 plus 300 AZN
	

	E)
	14% up to 2500 AZN, 25% of the excess of 2500 plus 425 AZN
	

	61
	What is the difference between autonomous republic tax and state tax?
	

	A)
	mining tax
	

	B)
	land tax
	

	C)
	Road tax
	

	D)
	not any difference between two
	+

	E)
	VAT
	

	62
	Which of the following does not belong to the participants of the of the relations regulated by the tax laws
	

	A)
	legal and individual persons 
	

	B)
	legal and individual persons as tax agents 
	

	C)
	the custom authorities 
	

	D)
	the National Assembly
	+

	E)
	Sole trading persons 
	

	63
	 The tax rate is applied to calculate the amount of tax which of the following?
	

	A)
	the object of taxation
	

	B)
	the tax base 
	+

	C)
	the tax debt
	

	D)
	the financial sanctions
	

	E)
	the bad debts only
	

	64
	Which of the following doesn’t belong to the objects of taxation?
	

	A)
	income 
	

	B)
	the value of goods sold
	

	C)
	property air
	+

	D)
	land, minerals 
	

	E)
	profit
	

	65
	Who is supposed to be taxpayer for the tax purposes?
	

	A)
	only resident person who shall pay taxes from the subjects of taxation
	

	B)
	only non-resident person who shall pay taxes from the subjects of taxation
	

	C)
	only foreigners or stateless persons who shall pay taxes from the subjects of taxation 
	

	D)
	any person who shall pay taxes from the subjects of taxation
	+

	E)
	none
	

	66
	What is the net profit for tax purposes?
	

	A)
	income 
	

	B)
	profit after deducting profit tax
	+

	C)
	accounting profit
	

	D)
	after deducting indirect tax
	

	E)
	Gross income 
	

	67
	Who carries cash control machine registration in the manner of specified?
	

	A)
	tax authorities
	+

	B)
	the financial institutions
	

	C)
	Justice institutions 
	

	D)
	customs institutions
	

	E)
	None of them
	

	68
	How much is the payment made by taxpayer in order for registration, re-registration and cancellation?
	

	A)
	3AZN
	

	B)
	is carried out free of charge
	+

	C)
	5 times the amount of conventional financial unit
	

	D)
	8 times the amount of conventional financial unit
	

	E)
	None of above
	

	69
	What forms of tax audits can be held by tax authorities?
	

	A)
	site inspection and operative tax control 
	

	B)
	operative tax control and desk tax audit
	

	C)
	site inspection and desk tax audit, operational tax control
	

	D)
	site inspection and desk tax audit
	+

	E)
	None of above
	

	70
	On site inspection is hold at the basis of the decision of…
	

	A)
	The financial institutions 
	

	B)
	the tax and financial institutions 
	

	C)
	the state treasury and statistics
	

	D)
	tax authority 
	+

	E)
	Court
	

	71
	How on-site inspection is documented?
	

	A)
	inspection act 
	+

	B)
	reference
	

	C)
	notice
	

	D)
	not documented
	

	E)
	agreement
	

	72
	Intertemporal choice model refers to….
	

	A)
	Any difference between pre and post-tax returns to an activity caused by taxes
	

	B)
	Tax policy to subsidize the wages of low income earners
	

	C)
	Choosing the tax rates across goods to minimize DWL 
	

	D)
	Decision how to allocate one’s consumption 
	+

	E)
	None of above
	

	73
	Murad’s salary (monthly) in oil company  is 8200 AZN. What is the income tax on employment?
	

	A)
	28 AZN
	+

	B)
	18 AZN
	

	C)
	720 AZN
	

	D)
	0 AZN
	

	E)
	350 AZN
	

	74
	Which of the following is not related to the rights of the taxpayer?
	

	A)
	To use the tax benefits which is described in the tax code 
	

	B)
	to apply to appoint a person who is in charge of the the on-site inspection 
	+

	C)
	to require to give back overpaid and already paid amount
	

	D)
	to participate in the tax relations directly or through their representatives
	

	E)
	None of the above
	

	75
	Which of the following is not related to the right of the tax authorities?
	

	A)
	To order the model of cash control machine in order to register in the tax authorities
	+

	B)
	To organize the tax inspections which is defined by the Tax code
	

	C)
	To demand to eliminate the tax law violations as well as require the  auditors opinion when it is needed
	

	D)
	to require to pay the taxes, interest rates, financial sanctions and penalties which aren’t paid in time 
	

	E)
	None of the above
	

	76
	The definition of the tax expenditures by the government can include

1.  Exclusion of pension contributions and earnings

2.  Deferral of income from controlled foreign corporations 

3. Capital gains exclusions on home sales 

4. Child credit
	

	A)
	1,2
	

	B)
	 1,3,4
	

	C)
	All of them above 
	+

	D)
	1,2,4
	

	E)
	None of the above
	

	77
	In order to ensure the implementation of tax control, Where are the legal persons  are accounted for?
	

	A)
	the place of residence of the chief 
	

	B)
	 the location of where they are  [the state registration documents the legal address]  
	+

	C)
	the place of administration 
	

	D)
	the location of the source of income 
	

	E)
	None 
	

	78
	If the Taxpayers  have  a branch, office or other entity in which way they are accounted for?
	

	A)
	The address of branch, representative office or other entity [facility] 
	

	B)
	in a centralized manner  as the largest taxpayer 
	

	C)
	together with its place of a branch, office or other entity [facility], 
	

	D)
	in place of its own, as well as the address of the a branch, representative office or other entity 
	+

	E)
	None of the above
	

	79
	Which document is given to non-commercial legal persons with other registration documents  by the Ministry of Justice and its regional branches which are carrying out state registration of legal entities
	

	A)
	Reference reflecting the legal address of non-commercial  legal persons 
	

	B)
	Reference reflecting the type of activity of non-commercial legal persons
	

	C)
	Reference reflecting issuing date of the documents 
	+

	D)
	an application for registration with the tax authorities
	

	E)
	All of the above
	

	80
	The registration of t the permanent establishment shall be carried out?
	

	A)
	in the manner prescribed by the Civil Code of the Azerbaijan Republic 
	

	B)
	in the manner prescribed for individuals and legal entities of the Republic of Azerbaijan 
	

	C)
	in the manner prescribed for the individuals 
	

	D)
	in the manner prescribed for  the legal entities 
	+

	E)
	None of the above
	

	81
	Which of the following refers to a special tax regime for businesses?
	

	A)
	Entrepreneurs  which are engaged in tourism business 
	

	B)
	Entrepreneurs  which are engaged in  the production of precious metals and precious stones, processing, use and circulation
	

	C)
	the diplomatic missions of foreign countries in Azerbaijan 
	+

	D)
	Persons who are the Operators and sellers  of  betting sports
	

	E)
	None of the above
	

	82
	Units without creating a permanent establishment in the Republic of Azerbaijan should submit their application...
	

	A)
	till the start of operations 
	

	B)
	not later than the date of the right to make an income 
	

	C)
	20 days 
	

	D)
	30 days
	+

	E)
	45 days
	

	83
	What is the difference between individual income tax and payroll tax type?
	

	A)
	applying to a broader set of income sources 
	+

	B)
	 interest earnings aren’t included
	

	C)
	not any difference 
	

	D)
	none of the above
	

	E)
	applying to a minimal set of income sources 
	

	84
	Which individuals can be a tax agent?
	

	A)
	only legal entities, entrepreneurs, private notaries and representative offices of non-residents 
	+

	B)
	only legal entities, entrepreneurs and non-residents' permanent representations 
	

	C)
	only  legal entities, entrepreneurs and private notaries 
	

	D)
	legal entities, entrepreneurs, private notaries, non-residents permanent representatives and persons receiving income from employment
	

	E)
	None of above
	

	85
	Consider that government imposed the tax on cotton production. Which of the following assumption is true.
	

	A)
	if the Demand for the cotton is perfectly inelastic producers will bear all of the taxes
	

	B)
	If the demand is perfectly elastic consumers will bear all of the taxes 
	

	C)
	If the Demand is perfectly elastic consumer and producer will share equally 
	

	D)
	If the Demand is perfectly elastic producers will bear all of the taxes
	+

	E)
	All of the above
	

	86
	What is the minimum allowance that is allowed to be deducted from income received as an employment?
	

	A)
	200 AZN
	+

	B)
	100 AZN
	

	C)
	250 AZN
	

	D)
	150 AZN
	

	E)
	350 AZN
	

	87
	What is the unemployment insurance rate in accordance with legislation of AR?
	

	A)
	1%
	+

	B)
	2%
	

	C)
	1,5%
	

	D)
	14%
	

	E)
	10%
	

	88
	What is the social protection fund tax in case of oil/government organization?
	

	A)
	3% and 22%
	+

	B)
	10% and 15%
	

	C)
	14% and 25%
	

	D)
	10% and 22%
	

	E)
	None of above
	

	89
	What is the social protection fund tax in case of non-oil/non-government organization?
	

	A)
	3% and 22%
	

	B)
	10% and 15%
	+

	C)
	14% and 25%
	

	D)
	10% and 22%
	

	E)
	None of above
	

	90
	During the on-site inspection in when it is not permitted to take documents which are not related to calculate tax?
	

	A)
	from 13:00 till the 14:00
	

	B)
	at night
	

	C)
	when the accountant is busy
	

	D)
	It is not permitted to take documents which are not related to tax calculation
	+

	E)
	All of the above
	

	91
	Which authority shall appoint expertise during the on-site inspection? 


	

	A)
	the court
	

	B)
	higher tax authority
	

	C)
	The Cabinet of Ministers 
	

	D)
	tax authority who carries on site inspection 
	+

	E)
	Ministry of Finance
	

	92
	When re-expertise  is appointed during the on-site inspection?
	

	A)
	when the expert opinion is not clear and complete
	

	B)
	when the opinion is not reasonable and there is some suspicion 
	+

	C)
	not appointed in any case
	

	D)
	only the request of the tax payer
	

	E)
	None of the above
	

	93
	In which case specialist is appointed to the on-site inspection ?
	

	A)
	at the request of the taxpayer
	

	B)
	by the decision of court
	

	C)
	never invited
	

	D)
	When specific knowledge and experience is needed
	+

	E)
	None of above
	

	94
	In which case interpreter is invited to the on-site inspection?
	

	A)
	if necessary
	+

	B)
	any cases
	

	C)
	at the request of the tax payer
	

	D)
	at the request of controller
	

	E)
	Never invited
	

	95
	Who is not allowed to participate as an observer during on-site inspection?
	

	A)
	the officials from financial sector
	

	B)
	citizens who are engaged with the entrepreneurial activity
	

	C)
	the employees of the law enforcement authorities
	

	D)
	tax officials
	+

	E)
	the officials from customs sector
	

	96
	Classify the tax payers for the income tax needs?
	

	A)
	only residents 
	

	B)
	only non-resident individuals 
	

	C)
	resident and non-resident individuals 
	+

	D)
	individual entrepreneurs
	

	E)
	Partnerships
	

	97
	Which of the following isn’t income from employment?
	

	A)
	wages
	

	B)
	the financial assistance provided by the employer
	

	C)
	any payments or benefits from employment 
	

	D)
	interest income
	+

	E)
	Insurance paid on behalf of employee by employer
	

	98
	What is the simplified tax rate?
	

	A)
	2%
	+

	B)
	3%
	

	C)
	4%
	

	D)
	5%
	

	E)
	11%
	

	99
	What is mining tax rate for crude oil?
	

	A)
	26%
	+

	B)
	20%
	

	C)
	19%
	

	D)
	3%
	

	E)
	20%
	

	100
	What is the simplified tax for taxi cabs?
	

	A)
	1.8 azn per seat
	

	B)
	9 azn per cab
	+

	C)
	1 azn per km
	

	D)
	10 azn per seat
	

	E)
	12 azn per cab
	


